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& 43z K # NET HDCP TOTAL ouT IN
BB B =T & 68.8 31.2 100 ( 53 47 )
2/ M B = E 69.6 8.4 78 ( 39 39 )
3 & M = 70.2 4.8 75 ( 37 38 )
4 fif M B & 70.8 7.2 78 ( 39 39 )
5 A Nl £ B 71.2 22.8 94 ( 48 46 )
6 fiI =S - = 71.4 3.6 75 ( 37 38 )
7 i1 ® 8 F 71.4 15.6 87 ( 41 46 )
8fI & 8 # 71.4 21.6 93 ( 46 47 )
9 fiI FEHE #RX 71.6 14.4 86 ( 43 43 )
106 B H % T 71.8 13.2 85 ( 42 43 )
1560 % 0O &% = 72.6 8.4 81 ( 40 41 )
200 BB 0B 73.0 24.0 97 ( 50 47 )
2561 N RROFD M 73.2 4.8 78 ( 39 39 )
30 & £ B A 73.6 8.4 82 ( 43 39 )
351 R E OB F 73.8 7.2 81 ( 43 38 )
4061 F B F = 74.2 16.8 91 ( 47 44 )
457 # Nl X F 74.8 19.2 94 ( 49 45 )
S50f. & OBF % 2% 75.0 12.0 87 ( 41 46 )
55 M AR B & 75.2 4.8 80 ( 39 41 )
601 B #W B — 75.4 9.6 85 ( 43 42 )
657 F B & I 75.8 31.2 107 ( 57 50 )
7061 % % 3 75.8 13.2 89 ( 47 42 )
7560 0B % F A 76.2 10.8 87 ( 46 a1 )
gofii R B BB %k 76.4 9.6 86 ( 44 42 )
85fi7 M Kk T A 76.4 21.6 98 ( 52 46 )
90fi7 W A I I 76.6 20.4 97 ( 51 46 )
57 f B B % 77.0 12.0 89 ( 48 41 )
1006 = B #® F 77.4 21.6 99 ( 52 47 )
1106 8 B F X 78.6 14.4 93 ( 49 a4 )
12067 # B & B 79.8 19.2 99 ( 49 50 )
13067 & = p& = 80.6 32.4 113 ( 54 59 )
14067 #% B I@E A 82.2 22.8 105 ( 46 59 )
15067 & B B’ % 89.2 28.8 118 ( 59 59 )
BBE @ M # =X 94.0 36.0 130 ( 70 60 )
BGE & t A 69 ( 33 36 )
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